Exam. Code: 0006
Sub. Code: 0535

2071
B.A./B.Sc. (General) Sixth Semester
Physical Education
(In all mediums)
Time allowed: 3 Hours Max. Marks: 60
NOTE: Attempt five questions in all, including Question No. I which is compulsory
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and selecting one question from each Unit.

X-X-X
Attempt the following;:-
a) What is a gland?
b) Explain reflex action.
) What is the length and width of table tennis table?
d) Two carrier options in physical education.
e) What is oxygen debt?
D Where is the pituitary gland situated in body? (6x2)
UNIT -1
List out the main organs of nervous system with its functioning. (12)

What is endocrine system? Write about location and functions of pituitary gland,

thyroid gland and parathyroid gland. (12)
UNIT -1I

What do you understand by stitch in the side? Write its causes in physiological

concepts. (12)

Write the effects of sports training on respiratory system. (12)
UNIT — 1

What do you mean by carrier aspects in physical education? Write in detail.  (12)
Enlist the institutions and courses available in physical education profession. (12)

UNIT -1V
What are the responsibilities of a coach? Write in detail. (12)

Write the basic fundamentals skills of table tennis game and draw the layout of
table tennis games table. (12)
X-X-X :

(Hindi and Punjabi versions enclosed)
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